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You have been called for the written test based on the online data furnished by you in the web application. If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected.

2. eI gTer 7 et Fr 39Teufa 7 &) 39! gia-RRee W eEd1aR 3T T1RT]

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. U9, 80 TRAT & erel YRA-YREcTeRl & &9 A ¢ 31T alreT &7 3afer 02 € § |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. WA FH IR A S AU @l 9l FRT 31091 NTANR 3ecR-gfEas & smeef)

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. GF 9T FAT 04 3 9 3K UAF T oo FTAT TF 37 FeT SO |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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S g et 3% AR wee-qeae Aol s (WAEEE) AR Jea gfeda R e E41 W '

o= Tig v .
Question booklet series code (A/BICID/E) printed on the right hand top comer should be written in the OMR
answer sheet in the place provided.

qga-mﬁmmamwwﬁﬁl

Enter your Name and Roll Number correctly in the question booklet.

FTAAN 3ca -Wﬁmﬁwmmmmhmgzwaaﬁmma
All entries in the OMR answer sheet should be with blue/black ball point pen only.

WWWWW?UH@W?%WWW@W@WI

_ The questions will be objective type with four options out of which only one will be unambiguously correct.

3TIRT, mmﬁmmmﬁé?m /e TR & dfel rse Ut I 3NTHA 3ceik-
mﬁmmﬁmmﬂﬁmwwmﬁl

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

T 99T ¥ TT 3199 Scak ITeTd AT ST |

Multiple answers for a question WIII be regarded.as wrong answer.

ﬁf@ﬁqﬁ&ﬂmﬁmﬁm%mm FIAHAL, mmwmmm qr5a-
gwﬁ.mmmﬁm@ﬂ%aﬁawﬁl

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

o 97 Bl X, WMm-mﬁmé?m%ﬁﬁmﬁiaﬁWmW-gﬁaﬂ
ﬁi’rﬁaﬁr@\ﬁwaﬁrqﬁmwr@u

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the ongmat'
OMR answer sheet to the invigilator and retain the duplicate copy with you.

et 352l 3 IR T R 0

The question booklet can be retained by the candidates.

e 3 TR € 3 T R Y T aT gier Sise P Al T ¢

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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T TATA-d] — 1296/Technician-B — 1296 THRITNE TaTah-(TTRTATHT TETTF)/

Chemical Operator — (Laboratory Assistant)

fArfafea 7 @ sla-ar Fsmragi &

Which of the following is not a mixture?
(a) 3THd STel/Distilled water
(b) TANS/LPG

(c) Ugral/Gasoline
(d) 3IAT3A sTHF/Todized table salt

YR aY — HAGT

Light year is a measure of:

(a) "HA/Time

(b) Zgﬁ/Distance

(¢) wcdHA/ Mass

(d) Eﬂﬁ—?f H & IS AE1/None of the above

TP 5 TN 3O T CoH120 ¥ | T 3 FoIT syeiTegael 0 avar &2

The molecular formula for glucose is CsH20¢. Which is the empirical formula for glucose?

(@ CH,0
(b) CeHi20g
(c) C3HeOs

(d) ﬂﬂ?’d qHE Tﬁé sT&1/None of the above

ETSSITe T § Jad Flelfeteh 3] P —— FEd §
Organic molecules containing hydroxyl group are called:

(a) TUET/Esters

(b) $U/Ethers
(c) Viesgresd/Aldehydes
(d) Ucelglial/Alcohols
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HROTH !

Pressure of gas is due to:

(a)

(b)

(c)
(d)

wmﬁaﬁ@mwmﬁmzwﬁwﬁmﬁsﬁ

All naturally occurring processes proceed spontaneously in a direction which

(2)
(b)

3 3rop3ft & o & AU EIEa L
Intermolecular attraction between gas molecules
sTrerreT/aT T & Ry S JOT3T T HE

Collision of gas molecules against the wall of container

CIE:] 3-1'@3%’[ F[ qreieee Tad«/Random movement of gas molecules

SQ'?;;W‘T-T HFE Te1/None of the above

Tegrdl # gf&/Increase in entropy
Tededr H aﬁllncrease in enthalpy

() U?g'jfﬂ' #H grg/Decrease in entropy

(d #HFd FaT  gfg/Increase in free energy
RREE —— A TS E
Potassium is kept in:

(a) Y &7 del/Kerosene

(b) 3IHT STel/Distilled water

(c) m/Ammonia

(d) ﬂ?qaﬁﬁ?-rmcohol

ETES IS &1 AT [Es # Fer BT
Homolytic fission of a hydrocarbon will liberate:
(a) FTafepred/Carbocation

(b) @ fATA/Carbanion

() #HFd Helh/Free radical

(d) rElel/Carbene

leads to:

T HROTSAdT 8 |
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10.

ii;

12.

TS (AR GIF H 1 JGHUT T ——— H eI d fhar Sar g

Noise pollution level in a chemical plant is expressed in:
(a) Eé:H/Hertz

(b) W%T-T/Rc)entgen

(c) SfATd/Decibel

(d) B'Q'{i?r"ﬁ qHI Eﬁé Tel/None of the above

Y 1984 3 sfiaTer 3 g ———— A F FROTES
The gas which caused Bhopal gas tragedy in 1984:

(a) FIeeT AAIFATSS/Carbon monoxide
(b) AR ST ¢/Methylisocyanate
(c) BISSIS=T HI=183/Hydrogen cyanide

(d) e SFASs/Sulphur dioxide

o3 H3IRa e & aeT A W——

As lead storage battery is charged:

(a) oIS Solacis, oS Jowhse B g ad AT g
Lead electrode becomes coated with lead sulphate

(b) W\ﬁﬁq HEel t_ID?iGEIﬁ'{H &1 ST 8/Sulphuric acid is regenerated
(c) o3 HiFaSs ﬁ?ﬁﬂ@ﬂ SITAT 8/Lead oxide dissolves _
(@ FFCF{@E 37 T TIGUT ¥edT g/Concentration of sulphuric acid decreases

%ﬁwmmﬁmmwmmﬁwmmh

What happens to the volume of the aqueous solution when small amount of sugar is dissolved
in it?

(a) 3ITATH Eﬂ?‘f\f olume increases -
(b) TG A H/Volume decreases

(c) 3IHIdAY 5@{ dadl 3’, Y Trear 8/Volume first increases, then decreases

(@ ITaAH EFT%’ SCoTg dgi/No change in volume

5 1296/16



13.

14.

15.

16.

17.

e a9 & g Jgaiarel Tehar 8l gl
The only metal which is liquid at room temperature 1s:
(2) WSTA/Sodium

(b) FEA/Mercury

(c) <IECTaH/Titanium

(@) SifrFA/Gallium

At & ¥ Fi 3T 62
Which of the following is a metalloid?
(a) oi5/Lead

() IRFEABeryllium

(c) SRIA/Barium

(d) TSEAA/Bismuth

e o & - 3] eTfee gy el 7
Which of the following non-metal shows metallic luster?
(a) §IT&«1/Bromine

() Fafesa/silicon

(c) ATRISc/Graphite

(d) FINEI/Chlorine

TR & & 9 w138 o i T
Identify the green house gas among the following?

(a) I Aleargs/Carbon monoxide

(b) FIeT SAFATSs/Carbon dioxide

(©) FIe+T FalFaSs/Carbon suboxide
(d) e SEHEHFS/Carbon disulphide

PR & Q Flar-ar T o e &2

Which of the following is,not a homogeneous mixture?

(2) WlesUSolder

(b) NaCl=hl 1 faerge/Aqueous solution of NaCl

(©) I SEHEHES H Hothy/Sulphur in Carbon disulphide
(@ e H Gew/Sulphur in water

1296/16



18.

19,

20.

21

22,

I Ut fafR garT ford fsroT &1 gufha fomam oir gerar &7

Identify the mixture which can be separated by magnetic separation method.

(a) ieh qI3ST+ §Tef/Chalk powder + Sand
(b) B+ dTef/Iron + Sand

() HS+ §Tef/Common Salt + Sand

(d) HeHI+dTel/Sulphur + Sand

deetofl ——— §

CNG is

(@) TdRET FI'IEE%E 39/Compressed Natural Gas
(b) TNfET 3eN= I\/Compressed Neutral Gas

(c) Hufaa @ =g A\/Condensed Normal Gas

(d) wTdifEa ATSCIoTe 3/ Compressed Nitrogen Gas l

HiRIH SEESEIe BIAhe HT T —— B
The formula of Calcium dihydrogen phosphate is

(a) CaH2P04
(b) Ca(HPO,),
(C) Ca(HzP 04)2
(d) Ca3(POq)

PrTaRd & Q317 F1 Sciee FREaTe Tt 3 Fraor & Sl anfiver Tt &

Which of the following is not in the triangle of components for the cause of fire?

(@) ard/Air

(b) SUA/Fuel

(c) cTd/Pressure

(d) dT9AT/ Temperature

fArfaf@a 7 8 Fia-3r 3 gamareh 3 & a5 @ S ST &
Which of the following is known as laughing gas?
(a) =S¢ ATFAISS/Nitrous oxide
(b) Fﬂg@?ﬁ 3ﬁ'ﬂ"Hi§§/N itric oxide
(c) SIS YeeiFaT8s/Dinitrogen pentoxide
(d) AU FEfae/Ammonium carbonate
7
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22

24.

25,

26.

27

e TOHY —— &
One amu is:

(2)
(®)
(©)
(d)

coéﬁﬁ 023 x 10* m&ﬁﬁmﬁﬁ#mmﬂ@rm

1.67 %10 ¢
6.02x107 g
1.0076 g
0.000327 g

gl

The number of gram atoms of oxygen in 6.023 * 10** molecules of CO is:

(2)
(®)
(©
(d)

el gE3i A, a—qml?ﬁﬁmﬁuﬂ

1
10
0.1

'a"q?:ich keI #Ag1/None of the above

3 3fRegea gl

For gaseous substances, the law of mass action is expressed in:

(a)
(b)
(©
(d

EIECIRED

1A 3T 3712T/Mole fractions
HIEUT/Concentrations

3711 grd/Partial pressures

3"5@3?" & T FIS A61/None of the above

gl

Indigo is a:

(2)
(®)
(©)
@

e Tt sifafEaT A== B 3 GIAMIGEAT H I« AT AT Hhll

TEUF 31§Mordant dye

e 515/ Vat dye

37T S8/Acid dye

3@% 'ﬁﬂ}l FS #&1/None of the above

&l

A chemical reaction A = B is said to be in equilibrium when:

(2)

(b)
©
(d)

AQYBTUTB & A ¥ TR0 G FAA &
The rate of transformation of A to B and B to A are equal

AY B H‘:I'Usf FYTAOT &Y el gl/Complete conversion of A to B has taken place

A T B & 50% TR Rl gl £1/50% conversion of A to B has taken place
B & A ST 50% FITCROT &1 Tl 2Y/50% conversion of B to A has taken place
8

TS 3aA
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28.

29.

30.

31.

32

STl o ETToT & forw 3ugerd Tord —————— B

Alum used to purify water is:

(2)
(b)
(©
(d)

$hIH TeIH/Chrome alum

GIETRT TeAH/Potash alum

%R& TeIH/Ferric alum
AT TaIHA/Ammonium alum

mw%ﬁwqﬁﬁﬁw?ﬁﬁwm%wm%‘?

Which pair of atomic numbers represent s-block elements:

()
(b)
©
(d)

3,12
6,12
9,17
7,15

HI-3HR A —— = AT B
Water gas is a mixture of:

(@)
(b)
©
(d)

CO0,Td/and H,0
CO Td/and H,
CO Td/and N,
CO Ud/and H,0O

UqX ShiAeamd — &R YT HLaT g |

Paper chromatography uses:

@
©)
(©
()

&d AT g 3o dIUT/Liquid moving and stationary phases

S ITAAT g 31 TX0T/Solid moving and stationary phases _

&d AT TROT g SIF 379 TRUT/Liquid moving phase and solid stationary phase
S ITAAT TROT T g 37Tl TX0T/Solid moving phase and liquid stationary phase

AHISS ITEF —— Y Wifgad &

Sulphide ore is concentrated by:

(a)
(b)
(©

(d)

forarereT (eNf=ieT)/Leaching

SIT9T ToldsT Ufehdl/Froth floatation process

ﬂ?{gﬁ F:IDEITﬁ?I J¥ehsi/Electromagnetic separation
ITcd YUehel/Gravity separation

1296/16



33.

34.

30,

36.

Rt gaeaT RaeaTer dacd ————— &

The element which shows variable valency is:

@ O
(b) P

¢y €l
(d N

aﬂﬁmﬁmﬂ,mwmﬁﬁﬂﬁ%@amﬁmﬁ@w&aﬁgﬁ
gé%%ﬂavgaﬁ@rﬂmm————asaﬂ@mﬁﬁ%l

During electrolysis, when same quantity of electricity passes through the electrolytic solution, the
amount of different substances liberated is proportional to their:

(a) ﬁ@)?ﬁil' TR It/Electrical resistance
(b) %@’mmfﬁlecuical conductivity

() TS W 9TX/Chemical equivalent weights
@ 3IEFIAY 1S A&/ None of the above

27°C # 300 f. a?r.é:ww?ﬂuaﬁﬁmmﬁamﬁ&haﬁaﬁmm%l 3ifae 3mae
—Fl

300 ml of an ideal gas at 27°C is cooled to -3°C at constant pressure. The final volume s

(@) 135 <f/ml

(b) 270 [A. <r/ml

(c) 300 fA. <i./ml

(d) 350 fA. #/ml

aﬁﬁﬂﬂlﬂaﬁ#\qaﬁ%ﬁq%%&ﬁrmwaﬁaﬂ?ﬁ, Feardl ol

The temperature below which the gas does not obey ideal gas laws is known as:

(a) HATAIT ardHTed/Reduced temperature
(b) SfAelHA dr9AT/ Inversion temperature
© 19 dT9HT/Boyle’s temperature

(d) ifaes aTIATA/Critical temperature

10 1296/16



3.

38.

39.

40.

41,

AT v 7 1 el 1397 Tg 1 STl < o Foll ———— B

Energy equivalent to 1 calorie, 1 erg and 1 joule in the increasing order is:

(@ 1317<13 < 1% erg<1joule <1 cal
(b) 1Sl <1helRTI<1373T/1 joule <1 cal <1 erg
(€©) 1FA<1IA<1307/1 cal <1 joule <1 erg
(d) ﬂéﬁaﬁﬁaﬁéﬂﬁmee of the above

fArfaf@a 7 & wia-ar 7o sarer & et v 78 a?
Which of the following salt does not impart a colgur to the flame:
(a) HTRIH FRISS/Calcium chloride

(b) TR FERESS/Lithium chloride

(c) ureflraH FARTSS/Potassium chloride

(@ FHARae FeIRT88/Magnesium chloride

A& FE A FATF AT B — FEa £

Heating of methane in the absence of air is called

(a) Ggel/Combustion ,
(b) mﬁmecmboxylation

(©)  3cdTT HTEH(TA T ) Pyrolysis
(d) 9hIRT AT /Photolysis

Fadrfafsesmsar— F

The specific heat capacity of water is

(a) Ygier ud fAEr & el ¥ FAE/More than petrol and kerosene
(b) daTg e@ﬂ & &#/Less than oil and petrol

(c) <2UAgq Uq ol § SH/Less than honey and oil

(d) AEY & dT A FH/Less than kerosene

e dagsm e — &)

Identify the binary solution among the following
(a) SEUId/Steel

(b) SR/Bronze

(c) #ATSshIHA/Nichrome

(d) 91T ATHA/Gun metal
11
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42.

43.

44.

45.

46.

THTIET 3R 3IgeFd &3 dehil HHb
Most commonly used rubber vulcanising agent 1s
(a) HeHY/Sulphur

(b) siifHe1/Bromine

(c) TolfesTH/Platinum

(d) TAHA/Alumina

J9HAT aﬁwaaﬁamuz—cﬁﬁl

Viscosity of a liquid decreases when the temperature:

(a) 'q"ﬁmncreases
(v) @r™/Decreases
(c) {22 TEdT &/Remains Constant
@ (a)Td (c) A=/Both (a) and (©)

PR § § Sia-ar S AT R?
Which of the following is not a fire extinguisher?
(a) e =rlFaTEs/Carbon dioxide

(b) ARAr

(c) Sel/Water

(d) WIH/Foam

ﬁmﬁ@ﬁﬁ@ﬂﬂ-ﬁmﬁwmmmwb

Which of the fpllowing plastic can be recycled?
(a) FoHAA/Melamine

(b) gienTeila/Polyethylene

(c) ehelisc/Bakelite
@ (2) T (b) @Al/Both (a) and (b)

e o & e Fgea O €7
Which of the following is closed system?
() Srgel/Boiler
(b) HUISH/Compressor
(c) 3TSEI g/ IC engine
(@ «H Farfrard/Bomb calorimeter
12

gl
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47.

48.

49,

50.

I TETY 3 oI - ST T 4T &7

Which is not correct statement of a pure substance

(a) HgTA F AR 31a¥UT/Homogeneous in composition

(b) AT A Az F AT 319TUT/Homogeneous in chemical aggregation
(c) dAT ST A Fraror ir garel &/A mixture of oil and water is pure substance
(@) ot a ga ool T AT € Terd &

A mixture of ice and liquid water is pure substance

agﬁmanmmmm”éa%wﬁaq%%%@amﬁwmﬁnqﬁqmaﬁaﬁ
| |

The lowest temperature at which enough vapour of the oil, when mixed with air will ignite but not-
continue to burn

(a) Sdclelieh/Fire point

(b) 'FgﬂiEF/F lash point

() 3Iq:HEAUT ﬁ?g/Pour point
(@) #= fdg/Cloud point

PrAafla & @ Hi-a1 2R st 3053t J TG 76 67 |
Which of the following compound is not associated with water molecules?

(@) =irell YrAT/Blue vitriol

(b) URINitre

(c) el %I HIST/Washing soda

(d) THH FdUT/Epsom salt

WWEEWETWWWHSW@HWWWWW%I

The type of materials which becomes soft when heated and hard when cooled:

(a) yAfcafEea/Thermoplastic

(b) uHAFATET caTfiEesh/Thermosetting plastic
(c) YRS/ Thermostatic

(d) 3Ed & FIS AL/None of the above

13 1296/16
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52

33

54.

ﬂ@maggmﬂﬁa#,ﬁﬁéﬁw%mgmmﬁm,wmmﬁ@ﬁﬂﬁm%
HEEIC &

The property of a metal which allows them to be drawn into thin wires beyond their elastic limit
without rupture is called

(a) 3TETGEUAIIAT/Malleability
(b) FATEU/Elasticity
(c) deIdi/Ductility

(d) FBRdl/Hardness

Eate-6 ——— &

Nylon-6 is a

(a) dbge I A=/ Thermosetting resin
(b) GiferEeT/Polyester

(c) UifeluATSS/Polyamide

(d) uifergATEs/Polyimide

Feo* T8 & STad faode & A1 : ﬂfﬁmqu@aﬂ;ﬁaaﬁrqﬁmﬁl

_ Prussian blue is obtained by mixing together an aqueous solution of F&’* salt with:

(a) BATTASS/Ferricyanide

(b) |ETH AIATES/Sodium cyanide
(c) ﬂﬂ’f. HIATSs/Ferrocyanide

(d) Eﬂ%ﬁﬁlﬂ HAIATSS/Hydrogen cyanide

ST & T WA & T SRt FioTaeT WRFaT ——— o1 3T A &
Catalytic reforming process of reforming naphtha uses:

(a Co-Mo
(b) Pt-Rh

(c) faferesr Sie/Silica gel
(@ feher/Nickel

14 1296/16
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56.

31,

58.

59.

ALO;3.2H,0 > ALO; + 2H,0 — &7 3STE0T &
AL 03.2H,0 = Al 03 + 2H,0 is an example of:

(a) ﬁﬁ?i'/Roasting

(b) HITel=T/Smelting

(c) faEam=/Calcination
(d) fA&Ta=/Leaching

3T AT & HAAR =@ & @ i Uereae fauere =81 e

Which one of the following does not show positive deviation from Raoults’s law?

(a) SGH-TUATel/Benzene-ethanol

(b) SASAIA-TTHEA/Benzene-acetone

(c) SASIA-FIET CCIFARTSS/Benzene-carbon tetrachloride
(d) SFASA-FARTBIA/Benzene-chloroform

FIeT SRNFHISS FPTAHF & T FTHEg ——— F
The colour code for carbon dioxide fire extinguisher is:
(a) ©Tel/Red

(b) <hIell/Black

(c) drelr/Yellow

(d) reT/Blue

0.0690 H e 37 T TEI —— B

The number of significant figures in 0.0690 is:

(@ 2

® 5

(c} 3

@ 1

ATHUTHT, HISOT I Teh SH1S © SiT el o UTH 3T T FEAT Tict
el

Molarity is a unit of concentration measuring the number of moles of a solute per:

(2) 3T & e litre of solution
(b) IR FT IMH/gram of solution
(c) faamae & el litre of solvent
(d) I FT AH/gram of solvent

15

T AT FAT
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60.

61.

62.

63.

64.

79 TR 31T Zn TR AR 8IdT &, 9-
When perchloric acid attacks Zn:

(2)
(b)
(©
Gy

FoAITe 3cdtard alal £/Chlorine is evolved
HEESC) Ichtaid aldl &/Hydrogen is evolved
gISsIeTd FANISS Icgfald glaY &/Hydrogen chloride is evolved

. 3tfarelioreT Scatold gidr 6/0xygen is evolved

e tfewd Toss & Yedlgial H ————— Garl ufafelea frar s g |
An alkyl halide can be converted into an alcohol by:

(a)
(b)
(©)
@

FfeaTss Aol % 3ifaw TeEd

FTaEATd=/Substitution
feRTeOT/Elimination

19T/Addition

3'@33'?!' HAFS #Ag1/None of the above

gl

The last member of the Actinide series is:

@
(b)
©
(d)

cRIFHA/ Lutetium .
TR/ Lawrencium

AfFefagd/Actinium

3'q?i3‘_tf HATs TAEI/N one of the above

SrafafRa T Pla-ar A AR 8 ?

Which of the following is not an alum?

(a)
(b)

©
(d)

Sfoeran aiftgs dethe 223hgE3c/Calcium sodium sulphate dodecahydrate
or R TofafEEs Fethe SSHEBIC

Potassium aluminium sulphate dodecahydrate

EIERIE ] U@ﬁmﬂ Tothe Sedgssc/Sodium aluminum sulphate dodecahydrate
QR RE AT b S12%gEac/Potassium chromium sulphate dodecahydrate

M—WTﬁWW%WWﬁSWW%IHﬁWWW

(2)
(b)
(©)

gl
A trinegative ion of an element has 8 electrons in M-shell. The atomic number of the element is
15 '
18
20
16

(d

16 1296/16



65.

66.

67.

68.

ﬁmﬁa%wwaﬁmﬁ@aﬁwmﬁmm%ﬁﬁ:ﬁaﬁ

HEA/ING T & R ————— §oA o1l & |
The bulb of thermometer when dipped in petrol and then taken out, the level of the mercury thread
in the thermometer

(@) TR @91 8/Starts falling

(b) ToeT SIITAT &/Starts rising
(¢) 3T FIR R TET &/ Remains at the same level
d) TEa FRar & R deei/aes oeTaT &/Initially falls and then rises

frfafEd # @ -4 a1 &g Gethe faera (1) ¥ dig ) AT J&7 e
Which of the following metal will not displace Iron from Iron (II) sulphate solution?
(a) Toleh/Zinc

(b) HIATATA/Magnesium

(c) QWW/AIMnmn

(d T=/Tin

frafaf@a & @ ia-a 3fea Tad &2
Which of the following is the false statement?

(a) T ¥ RERt 9T el 100°C A FTAAT R

Water boils below 100°C on mountain peaks

) ﬁaaﬁrmwaﬁs%ﬂmﬁm@ﬁam@@m%l

Ice undergoes sublimation on surface of moon
) UddF RIERt W aF 0°C F FW AT 8 |
Ice melts above 0°C on mountain peaks
(d) G hr RIERT IR 3T ura Sedl gl gl

Cooking of food is faster on mountain peaks

R (2 T # fore 1 {57 & st 3 Sfa def HCl Y fRemar S, @@

When dilute HCl is added to zinc pieces taken in a test tube

(a) IS gRad A8T &1d1/No change takes place

(b) TaeIT &1 Ta1 IrelT &1 AT &/The colour of the solution becomes yellow

(c) U JrEr TR I FFT &Y ST &/A pungent smelling gas gets liberated |
(d ﬁma:ea@aﬁrmtnmﬂaamﬁ%ammm%[

Small bubbles of H; gas appear on the surface of zinc pieces
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69. TR PIAHIES Ud HIATTH BIAthe 3 ST FRIhT AT H1 3T
— 7

The ratio of phosphate atoms present in calcium phosphide and magnesium phosphate is

(a 1:2
B 21
(¢) 1:3
@ 1:1
70.  THST IS T TEHIOT A 32T — gl
The purpose of tanning in leather industry isto
(a) THS I Teg AA/Stiffen the leather
(b) TS I e FAT=/Smoothen the leather
(c) +FT Felell/Make it flexible
(d) ST YTaRIY S¢iel/Impart water resistance

7l mwﬁaﬁhﬁmﬁﬁmmﬁmﬁmﬁ@ﬁﬁ#mmmmm
ST 87

Which of the following substance is used in place of Sulphuric acid in foam type fire extinguishers?

(a)
(b)
(©)
(d)

FTSUIH HIAHE/Calcium phosphate
U@@ﬁ'ﬂﬂ' Fewhe/Aluminium sulphate
Af29H FrEfeic/Sodium carbonate
Ueehiglal/Alcohol

72 g FAEYH A9 F Gy AFEEcd) 1l AL el UIfgT?

Why should not we light a candle in a closed room with people?

(a)
(b)

©
@

IcUe= CO, 2aTHEITdT YT k! &/The CO; formed causes breathlessness
Tt T T 21 £ 5 FoF a@e 1o & AT gIfAeR® el &l

Carbon particles are formed which are dangerous for respiratory tract
¥ rafAde 3cae idT &/Poisonous gas methane is formed

wmmmm%mﬁmamm@mwmm
Carbon monoxide gas which reduces the ability of blood to carry oxygen is formed

18 : 1296/16
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74.

5.

76.

e BIZER HT IUIT CATTEeh T TaTord T & AT e g, ifer ——

Carbon fibres are used to reinforce plastic as they

(a) BaH %é?-l’ T 9108 §/Have weak carbon bonds
(b) 9 HIR &/Are brittle

(c) | 37H 3T delel GTALY §/Have high tensile strength
(d) S Yl T % 1T golet 3HYoT I §

Have weak forces of attraction between layers

A FT IART AT —— Frofafafice Far gl

Iodine value of an oil represents

(a) WH@W%W&WN@H@WI

The amount of NaOH required for complete saponification
(b) H?j_ﬁ?faﬁ HATAT/Degree of saturation

(©) 3~'|¢raj¢r T FATAT/Degree of unsaturation

(@) R e 3reT & I AT T eaTs
The length of carbon chain of fatty acids

&P+ D mam— ¥

The value of (é)2 - (?) 2

7
@ 3
6
o s
10
© <
(d
1,4,9,16,25 ST AN & 3@TeT 9§ —— &
The next term in the series 1, 4, 9, 16, 25 is
(@ 29
by 35
(©) 36
(d 31

19
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7.

78.

79,

80.

AT ‘o’ TE FS b & ey iy ofY FpoT &7 &Yl ———— &
Area of any triangle with base ‘@’ and height ‘b’is ?
(a) ab

®
©
(@

Q
(=

BlR Wik NiR
2 )
o o

37T e &, Ve SaRT wIed 37 83, 96, 79, 84 T 78 ¥ 3T 3 37k FAT
E[ I -

In the terminal exam, marks got by Ancy are 83, 96, 79, 84 and 78. What is her average
mark?

(a 79
(b) 78
(c) 84
(@ 82

IR ¥ T S P O & 4 TR RA N, B & e ¢ et Rt ol &1

RO HERAHAL,BTC weh ATy focet ot eer?

A takes 4 days to finish a work, B takes 2 days and C takes 3 days to finish the same work. How
many days 4, B and C to gether will take to finish the work?

(a 1 fe=t/day

(b) 2 f&/days

(¢) 12/132 &e/days
(@) 13/122 f&=/days

aﬁwﬁaﬁﬁﬁaﬂvﬁwmzxﬁxasﬁ,mmmm Tl

If the measure of the angles of a triangle are 2x, 3x and 5x. Then the smallest angle is

(@) 90 f33/deg
() 18 f33f/deg
(c) 36 T3AM/deg
(@) 54 T33/deg
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